PRIMARY 4 MID-YEAR EXAMINATION 2015

Name : - { ) Date: 18 May 2015
Class : Primary 4 { ) Time: 8.00 a.m.-9.15 a.m.
Parent’s Sighature : | Marks: /100 |
MATHEMATICS
PAPER 1
{Bookiet A and Booklet B)

Time for Paper 1 is 1 hour and 15 minutes.

Booklet A
Do not open this booklet until you are fold ookte 20

Read and follow alf instructions carefully. - Booklet B

to do so. ,
/

Answer all questions.

Total for
Paper 1 60




Paper 1 (Booklet A)
Mytiple Cholce Questions

Questions 1 to 10 camy 2 marks ecch.'
For each question, four options are givén. One of them is the comect answer.
Shade the comrect oval (1, 2. 3 or 4 ) on the Optical Answer Sheet. {20 marks)

1. What is the value of 7 in 78 9327

(1} 70

(2) 700
(3) 7000
(4) 70000

2 A number when rounded 1o the nearest hundred is 30 000. wWhich of the

following is that number?

(1) 28950
(2) 29300
(38) 29990
{4) 30980

3. Find the product of 65 and 40.
(1} - 2600 |
(2) 2420
(3) 440
(4] 249



What is the remainder-when 289 is divided by 77
(1) 5

(2) 2
(3} 3
(4) 4

Which of the following sets of numbers has#4as a common facior?

{1) land4
{(2) 2and8
(3) 3and8
(4) 4ondi2

Keith is facing South-East. After heturns g0° anticlockwise, in which
direction will he face?
N
(1} Norih
(2) West
(3} North-East

(4) South-West

35 =41 O

6 6 6

What is the missing number?
{1} 1

(2) 2

(3) 3

(4) 4



8.

10.

A rectangle is divided into 12 equal parfs. How mdny more parts must be
shaded so that % of the figure remains unshaded?

() 1
(2) S
(3) 8
(4} 4

How many pairs of perpendicular lines are there in the figure?
(t) 8 "

@ 2 £ 7
(3) 5 B
(4) 4 A »
c
H

How many right angles are there in the square?

(1) 8 A B
2 2 |
(3) 6
(4) 4




Paper 1 { Bookiet B )
Short Answer Questions
. Write your answers in the boxes provided. For questions which require unifs,

give your answers in the units stated. Questions 11 to 30 carry 2 marks each.

(40 marks)

11.  Use the digits in the boxes below to form the smallest.4-digit-odd

number. Each digif can be used only once.

5112117110

12. Write 93 044 in words.

13. Find «BCD.




14.

18.

16.

Draw a line parailel fo UV. The line must pass through W.

What is the sum of all the odd numbers from 40 o 507

What is the missing numbes in the number-pattem below?

2304, 2404, 2604, , 3304, 3804




17.  Kelly spent -;—- of her money-on food. She has $45teft. How much .
money did she spend 6n food?

18.  Find the value of 72 x 8.

19.  What is the missing fraction? Express your answer as a mixed nureber

in ifs simplest form.

~J

I | T | | |
[ l—é r 1 i




Study the graph carefully-and answer questions 20 and 21.
The line graph below shows the number of cars sold each month.

550
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A50
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350

Number 300

of
cars 250

sold 200
150

100

50

0

March Aprit May June July August
Months of the year

20. During which one-month interval was the decrease in car sales the

greatest?

From to

21. The number of cars sold in June is the same-as the fotal number of cars
sold in and

and




X = 36

0:0-=
-
Find the value of

How many eighths are there in 5% ?

% of a number is 24 What is the number?




25.  David has 36 cards more than Lily. Lity gives David ¢ cards.-How many
more cards will David have than Lity?

26.  Mrs Tan bought 12 boxes of bolioon_s for her pupiis. Each box contained

10 balloons. She gave each pupild balloons. How many pupils were

there in her class?

27. Look at the figure. How many angles inside the figure are less than

20°?

-10 -



28. The figure below is made up oi"squares. What fraction of the figure is

shaded? Express your answer in its simplest form.

29. Find the pernmeter of the figure.

I

10crd |

<« 12¢m ————

30. The perimeter of a square is 36 cm. What is its aree?

cm

cm?

- End of Paper 1

S11-




PRIMARY 4 MID-YEAR EXAMINATION 2015

Name : Date: 18 May 2015
Class : Primary 4{ Time: 10.30 a.m.-11.30 a.m.
Parent’s Signature :,_ Marks: / 40
MATHEMATICS
PAPER 2

Time for Paper 2 is 1 hour.
Do not open this bookiet until you are told to do so.

Read and follow all instructions carefully.

Answer ali questions.




Questions 1 to 10 cany 4 fngrks each. Show your working clearly in the
space provided for each dquestion ‘and write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. {40 marks)

1. Mark had $30 less than Ben. Tinrkad $50. The three boys had
$220, how much did Ben have?

Ans:




Devi gave the cashier $250 for a camera and a thumbdrive.
The camera cost 4:fimes.as. much as the thumbdrive:
a) What was the cost of the thumbdrive?

b} What was the cost of the camera?

Ans:

3. John is 24 years older than his son. In é yedm’ time, John wili be

4 fimes as old as his son. How old is his son now?

Ans:




4. MrTan bought a toy frain for $34. He pdid thie exact amount in
. $10-notes and $2-notes. He gave the shepkéeper10 notesin all.
How many $10-notes did Mr Tan give the shopkeeper?

Ans:




Wooden posts were placed 2m apart along a 52m path.
a) How many posis were used?

b} What was the distance belween the first and the fifth posts?

1%Fence 2™ Fence ?
Post Post
Q 2m D____--..-----..._____...-----.,--__..._....-_-..-_--
hl — : 52m "
Ans: q)

b)




- 6. Aishabought 3 blouses and 2 dresses. A blouse cost half as
much as a dress. She spent $210 in fotal. find the cost of a dress.

A blouse

A dress




7. The figure is made up of two idenfical overlapping squares. The
overiapped area is a square of side 7cm. Find the area of the

unshaded parts.

?cm

9cm




Mrs Lim had 240 eggs. She threw away -;- of them which were

rotten and sold % of the good eggs. How many eggs did she

have left?

Ans:




9. A crate of oranges weighs 6300g Whenitis ~;— full, its mass is 2300g.

What is the mass of the crate when it is empty?

crate

L ADs:




10.

Raja gave some sweets to.his fiends=f each of them received
3 sweetls, he would have 7 sweefs left. If each of them received

4 sweets, he would be short of 3 sweets. How many sweets did

Raja have?

AnNs;

End of Paper 2

10






EXAM PAPER 2015

LEVEL : PRIMARY 4
SCHOOL : TAO NAN SCHOOL
SUBJECT : MATHS

TERM : 5A1
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
4 3 1 2 4 3 2 1 2 1
PAPER 2

Q1. $100->$220-550=$170, $170 -$30=$140, $140+2=%$70, $70+$30=%100
Q2a. $50-» $250+5=350  (Q2b.$200->$50 x 4 = $200

Q3. 2 years old <»age difference 224, 24:3=8, 8-6=2

Q4.2 -?Number of $2 notes x 8, Number of $10 = $20, $20 +$16=536.

Q5a. 27 > 52:2=26,26+1=27. Q5b.8m 35-1=4, 4x2=8

Q6. $60->$210+7=$30, $30x2=5%60

Q7. 64cm2>» Tx7=499x9=81,81-49=32,32x 2 = 64

Q8.20 - 240+12=20, 7+4=11, 20 x 11=220, 240-220=20

Q9. 300g > 6300-2300=4000,4000+2=2000, 2300-2000=300

Q10. 37 multiples of 3 +7 , multiples of 4-3

THE END







Qi)

2057

Q12) Ninety-three thousand and forty-four

Q13)

37°

Q14)

Q15)

Sum > 41+ 43 + 45 + 47 + 49

=200 + 25
=225

ae)

2 904

Q17)

Left > 1-2/5=3/5
3u > $45

1u > $45+3=§15

Food (2u) = $15x 2 = $30

Q18) 576
Q19) 2%
Q20) -
Q21) -
Q22)
1cube » 6
2_ >3 28—-6=22
> 1
Q23) 43
Q24) 2/5x =24
=24 +2/5
=24 x 512
=60

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053

Pg1




Q25)

Dmore > 9+ 36+ 9=54

Q26)

Total balloons > 12 x 10 = 120
No. of pupils > 120 + 4 = 30

Q27)

3

Q28)

824 =1/3

Q29)

44 cm

Q30)

Length > 36+4=9
Area > 9x9=81

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053

Pg2




